CHAPTER  14
DISTRIBUTIONS  TO  SHAREHOLDERS:

DIVIDENDS  AND  SHARE  REPURCHASES

Ratios

1. 
A firm earned $100 million in net income last year.  It paid $40 million in cash dividend and repurchased stocks worth $20 million.  Calculate the following:


a. Payout ratio 

b. Repurchase ratio 

c. Distribution ratio 

d. Retention ratio 
Dividend payout

2.
In the real world, we find that dividends

a.
Are usually more stable than earnings.

b.
Fluctuate more widely than earnings.

c.
Tend to be a lower percentage of earnings for mature firms.

d.
Are usually changed every year to reflect earnings changes, and these changes are randomly higher or lower, depending on whether earnings went up or down.

e.
Are usually set as a fixed percentage of earnings, e.g., at 40% of earnings, so if EPS = $2.00, then DPS will equal $0.80.  Once the percentage is set, then dividend policy is on “automatic pilot.”

Dividend payout


3.
Which of the following would be most likely to lead to a decrease in a firm’s willingness to pay dividends?

a.
Its earnings become less stable.

b.
Its access to the capital markets increases.

c.
Its R&D efforts pay off, and it now has more high-return investment opportunities.

d.
Its accounts receivable decreases due to a change in its credit policy.

e.
Its stock price has increased over the last year by a greater percentage than the increase in the broad stock market averages.

Dividend theories

4.
Which of the following statements about dividend policies is correct?

a.
Modigliani and Miller argue that investors prefer dividends to capital gains because dividends are more certain than capital gains.  They call this the “bird-in-the hand” effect.

b.
One reason that companies tend to avoid stock repurchases is that dividend payments are taxed at a lower rate than stock repurchases.

c.
One advantage of dividend reinvestment plans is that they allow shareholders to avoid paying taxes on the dividends that they choose to reinvest.

d.
One key advantage of a residual dividend policy is that it enables a company to follow a stable dividend policy.

e.
The clientele effect suggests that companies should follow a stable dividend policy.

Residual dividend model - dividends paid


5. Fletcher Corp. has a capital budget of $1,000,000, but it wants to maintain a target capital structure of 60% debt and 40% equity.  The company forecasts this year’s net income to be $600,000.  If the company follows a residual dividend policy, what will be its dividend paid?
Residual dividend model - dividend payout ratio


6.
Ronaldo Inc. has a capital budget of $1,000,000, but it wants to maintain a target capital structure of 60% debt and 40% equity.  The company forecasts this year’s net income to be $600,000.  If the company follows a residual dividend policy, what will be its dividend payout ratio?

Residual dividend policy

7.
If a firm adheres strictly to the residual dividend policy, a sale of new common stock by the company would suggest that

a.
The dividend payout ratio has remained constant.

b.
The dividend payout ratio is increasing.

c.
No dividends were paid during the year.

d.
The dividend payout ratio is decreasing.

e.
The dollar amount of investments has decreased.

Residual dividend policy
 
8.
Chandler Communications’ CFO has provided the following information:

· The company’s capital budget is expected to be $5 million.

· The company’s target capital structure is 70% debt and 30% equity.

· The company’s net income is $4.5 million.

If the company follows a residual dividend policy, what will be its dividend payout ratio this year?


Cash dividend vs. Share repurchases


9. A firm has 1 million shares worth $50 each, thus the value of the firm is $50 million.  It intends to distribute $10 million to its shareholders. Calculate the payout if it is a cash dividend and when it is a share repurchase.

Stock splits - simple splits


10. Howard Contracting recently completed a 3-for-1 stock split.  Prior to the split, its stock price was $150 per share.  The firm's total market value was unchanged by the split.  What was the price of the company’s stock following the stock split?
Stock splits - simple split with market reaction


11.
Nistelroy Communications recently completed a 3-for-1 stock split.  Prior to the split, its stock price was $120 per share.  The firm's total market value increased by 5% as a result of the split.  What was the price of the company’s stock following the stock split?

Stock splits


12.
You currently own 100 shares of Troll Brothers’ stock, which currently sells for $120 a share.  The company is contemplating a 2-for-1 stock split.  Which of the following best describes what your position will be after such a split takes place?

a.
You will have 200 shares of stock, and the stock will trade at or near $120 a share.

b.
You will have 200 shares of stock, and the stock will trade at or near $60 a share.

c.
You will have 100 shares of stock, and the stock will trade at or near $60 a share.

d.
You will have 50 shares of stock, and the stock will trade at or near $120 a share.

e.
You will have 50 shares of stock, and the stock will trade at or near $60 a share.

Stock splits - fractional splits


13. Rooney Inc. recently completed a 3-for-2 stock split.  Prior to the split, its stock price was $90 per share.  The firm's total market value was unchanged by the split.  What was the price of the company’s stock following the stock split?
Miscellaneous dividend concepts


14.
Which of the following statements is correct?

a.
If a company puts in place a 2-for-1 stock split, its stock price should roughly double.

b.
Share repurchases are taxed less favorably than dividends; this explains why companies typically pay dividends and avoid share repurchases.

c.
Very often, a company’s stock price will rise when it announces that it plans to commence a share repurchase program.  Rarely will such an announcement lead to a stock price decline.

d.
Stock repurchases increase the number of outstanding shares.

e.
The clientele effect is the best explanation for why companies tend to vary their dividends from quarter to quarter.







